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~a-Answer must start from the question statement . ‘
b- It §hould be of at least 2 sentences; _singlé sentence answer isnot-permissibte~——~

_.C- D@ not add your own opinion unless you are asked for; ideas must be contextual to the passage

d- Avoid replicating phrases from the passage; you mayextract/copy words from-it———
___e-GiVe a closing end to each answer P

f- Tde@l Tength of amswer s 5-7 lihesAvoid toeleﬁg{hy-answers ot gl

g- Al$o, do not begin answers W|th the words, ° Yes No, And or Because g
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